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Nos; it is necessary for it is attached — TIDAT KON NY

OVERVIEW

The X1 asked how can 9"7 query if the 03 is 7> in a case where he said that all
the blank spaces are mine, for it is surely 2109 since the vx will be more than one
790. The X723 answered that the query of 8"7 is appropriate in a case where the
letters of the vx are 77Yn, so it is only one V3. Initially M9 assumes that 777
means that some letters are touching other letters so that all the letters are on one
vx. Our MmooIn discusses the requirement of 213 21 by va.

— D)2 I PNT 22T 92 PNYS 19229 PTPTI ININ

The 2'"'291 infers from this answer that by a va there is no requirement -
— YN XN INTI N5INNY YIINND T NAPIN NN MN U5 NANY
The each letter be surrounded by blank parchment from all four sides, as the

X3 states here that the letters are attached, meaning that some letters are not 9713 P,
since they are touching another letter.

mooin offers a dissenting view:
— TN NI PRT 9IIN PNNY 1322

And the 5''9 states that there is no proof from here that the letters of a v need not be
20 AP -

— ZmnnnY NVOY HY 70a NIYY NVIY HY T 53 195910 TNNIPNT NPT NI
For when the X721 states that it is 779v%, this means that the foot of a final ">

from an upper line extends into a 'v of the lower line -
— >n31257 AYYNYY N2 IN 1A 7Y YN IN

Or the head of a ®' of a lower line extends upwards into a '77 or a 'n which is
above it; however each letter is still M7 772 973 AP0,

The "1 however, does agree with the ruling of the 0"2":
— 9PWONY NINT P98 PPRT PNY 192299 AN DIPN Yo

But nevertheless the view of the "1 is that it is not necessary to bring proof

that the 03 is 92 even if the letters are not 2 P11 -
— 5 MAPIN HHIND 1NPY 12°¥a MM ]’b’ﬂﬂ 9N 9902 NPY1T

' 771 can mean embedded.
* See ‘Thinking it over’.
? See (X"2w"1 ow2) n"m1 who explains why in this manner it is not considered more than one 190 (even though they
are not touching). w"»y.
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For the requirement of "3 npw is only for the letters of a »°sn ,n"o and

nmm -
— 19 N2°5H2 DNANII 12 2PN2T DIV (8,15 97 mna) NP 2992 9ANTD

As the X3 states in Y27 P98, because regarding these (2'"no) it is written

anan2y, which means a 7%n 772905 a whole (complete) writing -
— %953 13992 RY 197 190 199987 NTIOD XYY VA YN

However there is no restriction regarding the writing of a v, for we do not
even require parchment or ink by a “u3 -

(3,83 apY) NONT NI D927 NY20Y a3 an91 9904
Since the word 9% which is written by a v, comes to teach us 2%937 n9%0 — a
recital of words, but not that there is a need for an actual 0.

SUMMARY
A 3 does not require that the letters should be 7 a9 or that it be written 9902
P72

THINKING IT OVER
Why did not the *"9 give an example’ that the leg of the final 7"> extended down
between two letters of the row below.?

* mooIn proves that we do not derive the 7222 which is written by vx from the 72°n3 by 0"no (that we will require
573 AP by va as well), for if we derive v from 0"no, then there should be a requirement of 171 790 by v3, which
there is not. Proving that by v3 these rules do not apply (1"710).
5 See our 8,0 mwn that 0°am> 232 and 2°3M> 9577 9v.
®In R,73 (X¥n) 0127 the 105 reads NMND 790 77 ano.
7 See footnote # 2.
¥ See w"wn.
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